CET 12th Level (1st Shift) Answer Key Dated : 11.02.2023

1.

'qh e’ TRAtCATSll oh i@, foi-anT g1t &t | 70 aef

& ey A e gt -
(A) St.5f. BRe (B) St. gH. alest
(C) dir & D) fgeidt A=eet [D]

Go through the passage very carefully and
answer the question given below:

In the past thirty years, drugs have been
discovered Excitement over what drugs can
do has led people to believe that any ailment,
infective or psychic, can be relieved by taking
a pill. At the first sign of nervousness, they
try pep pills. Medical journals now advertise
tranquillizers, and other mood- altering
drugs; doctor prescribe them; and the public
expects miracle from them. In such an
atmosphere, it is not surprising that drug
abuse has spread.

People often believe that

(A) doctors can cure all the diseases.

(B) medicines can cure all the diseases.

(C) doctors can not cureall the diseases.

(D) medicines can not cure all the diseases. [B]

'eRareft srmrear’ &1 ud fohe fafYy <t w=raT strar 22

(A) TRIeHA SMHTE=T (B) wifden smTa=r

(C) 3muTe SmHTEHT (D) raor rHTEa=T [D]
27-8-2022 @t U Halt v HIEHERT SgieT fhar
T 31 g fohe T OR &1 82

(A) graRHdt (B) s

(C) Tvaret (D) et [A]
RS a= & <t Siadd gid a-

(A) Us Td was (B) Sifares ud sretfaen

(C) 73 7d gt (D) urey gd g [B]

=1 d @ fore 2reR 7 o s @& erai< 2022 sfiar
8?

(A) Bea (B) gaxrsTE

(C) wifgaa (D) afRE [B]
R d@faem= &t wF-d siggt FRufewedt &
TR §?

(A) 114 (B) 124

(C) 134 (D) 104t [B]
ASTEYT | Pedhar f3ormeeT goe Saaun= sfeege
el R TuTfRa foRam war 82

(A) SR (B) &

(C) et (D) sagR [A]

Fafaf@a & | w9-a1 v 9t gafea @i sraws
G & e g &2

e - s = & S
(A) G- et T
(B) fwem g
(C) eeryg SR
(D) g - Wl SR

[c]

10.

1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

quTE AT &3 Rl ydess 3Mehyur cheg & *q foRar

SITQ | g o 8-
(A) SraqR & (B) SiTareT &
(C) Rax & (D) SR & [B]
R Sfu™ & =l gRiaeta snarlRa 8-
(A) fafer & e ufehar R
(B) fafer a1 g R
C) gd fAufat ek RuRrstf oR
(D) fafer grr wnfua ufehar &R [D]
SWRIPUfd ZR1 giHfae SIa @1 IgTed fovar -
(A) ATTeivs | B) Bgu &
(C) Aoy & (D) Harerg & [A]
'gHRT" | Iuf gl
(A) Sish e (B) T¥epa =t
C) 3¢ U D) fa=dt Suwt [c]
SYH AR T T HIfAQ-
(A)aﬂaﬁa (B) arfedrdht
C) gHuran (D) argwa [B]

Wzﬁmaﬁﬁaﬁuﬁﬁwmg&m
& # fSicrer &g voneft sifEI M1 8, ag &
(A) STRaw gRatsT (B) ATEY SSTTST IR URANSTHT
C) ffuaR uRgis1 (D) FHar Age uRas1  [D]
forg faret & IR & ga= Rer 2 o v ag dar fore
& g1 Z=aTSTT i STHAUTRRT 981 @l Gt ?

(A) STreTR @t foher (B) TG a1 fohet

(C) f&rom @1 fehett (D) SR a1 foher [A]
hi- & 2Aes FHe J GHI e 'fhwor' & ggigerh &2
(A) &, @1d, g (B) =7, i, #<if™

(C) w7y, &R, a1k (D) o= gy, e [B]
gl

(A) se-t (B) Tteit

(C)ura=xr (D)-3i=r [A]

Uh1se # e UHAIY] fehdehl URdl o w0 # aafedd
Fa8?

(A) Scantofia s (B) gehiviia aeg

(C) sreantviiy geg (D) Uerepivftg Tt [A]
A, BWd C X & Al & 9 aqzag @
A:2,3,7,1,3,2,3

B:7,5,9,12,5,3,8

C:4,4,11,7,2,3,4

faddalrarsyT @ @?

(A) C @1 |Te" = B i Arfedenr

(B) B <t ATfedient = A T Igeieh

(C) A & \Tem, wTfEdehT Ud dgeich 99 &

(D) A @1 ATEd = C T dgeich [c]
AIS<E QO T4 HIS<E Heple] OR dg drefl UUH'
R Afger, AT 4 siagar, 2022 i Ras@e &
g1 g, i ofY?
(A) Galy greg

(C) Rramft urse

(B) sty STHEHT
(D) Gferdr dheara [D]
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22.

23.

24.

25.

26.

27.

28.

29.

30.

fag g Rt & @ 39 Hea gyg o1 94 hifSig st
=T 99g (2, 3, 5) & g9 gt

(A)(5,7,9) (B)(5,7,11)

(C)(3.5,9) (D) (3,5, 15) [c]
REhT =0 Sfa 1vaRvy forg Iog A [ 82

(A) To=a™= (B) oI

(C) sRamom (D) geg wear [A]
'grg fiie' & forg ol &1 vu= ufeg 82

(A) area=T (B) I

(C) g R (D) Streptar [D]
Sifaar sfRfeaf_aa o g am @ 82

(A) & (grrar) (B) =i

(C) sfRr (D) =R [D]

fewrera & Aafaf@a sjgensit &t s @ gfaor s
# aafeaq fifed-
(i) STEemR

(iii) PRIPRA

(A) (i), (iii), (ii) Ta (iv)  (B) (ii), (iii), (i) ©a (iv)

(C) (iii), (i), (i) wa (iv) (D) (iv), (i), (i) ga (i) [C]
A=fafaa syu=t d 9 w19-91 Y= #Jifere wdal &
3reqry # afofd g1 82

(A) g9t IR H¥epfd dhl TMRARMelt URURT &l Agd
TS 3R IHhT URRETT &R

(B) Taci=dT GATATT o TR &l UTA T d SThT TR
AT

(C) ¥Ra &Y U T, Thdl SR SRESdT hi 8T R 3R 34
3T&IU0T W |

(D) Gfaem ant gTerd el [B]
I AT 1 AIAEher AUET arT U S«
&l 8-

(A) I=a g e A AR St

(B) IrsguTet wht

(C) 9Rd & =g <granefier i

(D) rgufa st [D]
Which one of the following is correct inh an
official letter?

(i) sEr@
(iv) Ryenfors

(A) Your’s truly (B) Yours Truly

(C) Yours truly (D) Yours' truly [C]
fA=afaf@a § @ w9 a1 de 2gar Ikash & 7R
ars o2

(A) Teeiiarer (B) Tresit

(C) gyit (D) Fafar R [c]

1 EXAM
PATTERN

31.

32.

33.

34.

35.

36.

37.

38

39.

40.

41.

42.

A= & | ga varanr &1 w=-a1 aof O @ =
frafoa gar @2

(A) e (B) dier

(C) wrafy (D) & [c]
o fag wR a9 aret e+t htort o6t i glar 8-

(A) 90° (B) 180°

(C) 360° (D) Q° [c]

T A4t Ffaf@a e wsa a9 | gl vanfaa
gt 82

(A) Teg e, ST, giaron

(B) Heg UeeT, ISR, ToRTd

(C) T U, ASTRAH, IR TR

(D) wezr g, ASTRAM, feee) [c]

TS il TR g Tt St SR 7 e g,
™ @ S St @1

(A) it bt et (B) $eTrrg i rerst

(C) AT <t aTeret (D) =g STargt [*]

Teh 3¢9l H 3N 41 R o1 & o T T
gar gl

(A) &= (B)ds

(C) = (D) ¥R [A]
HIF- AU AT 6T @R & FRUTISTIYE & U
HeATafd g91d gu?

(A) S faemT g (B) Sradt faam= o

(C) < RemT gomr (D) =teft faems @ [A]
Suidd@ar A ek Qe A gan i

(A) prett @Teft (B) fee=rg

(C) feushifar (D) Tiferar [D]

Choose the appropriate indirect narration for
the sentence given:

I said to her, "Why are you working so hard?"
(A).asked her why had she been working so hard.
(B) asked her why she had been working so Hard.
(C) I asked her why she was working so hard.

(D) basked her why was she working so hard. [C]

Tl gt &t fA=faf@a &t & @ frad g &

forg Aide RER | swnfaa forar man?

(A) g (B) afea

(C) sftfaehr (D) Bfsfa= [B]
23 Tegrait @1 oftea 21 81 afe ucss ST &t 2 |
ToT foRaT SITq &t T SfEd R gh?

(A) 236 (B) 42

(C) 46 (D) 21 [c]

Choose the correct antonym of the following
word from the options given below:

Knowledge
(A) learning (B) classic
(C) unknown (D) ignorance [D]

Fillid the blank with suitable preposition.

Your have to leave your shoes the door
when you enter the house.
(A) over (B) to
(C) by (D)in [c]
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43.

44

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

fFrafaf@a & @ @ Red d sifw sfoesar & et

TR Ug R Ag1 82

(A) Sf. g, St am (B) sft Tm. 3R, 3@

(C) it 7. <. mf (D) o qu.3, [C]
Fill in the blank with the correct determiner.
We can't make tea as thereis _ milk left
(A) much (B) any

(C) little (D) a little [C]

FRA 1 fasr ot A=fafE@a 9 @ g & sufeafa
# g 8-

(A) 7+t (B) g &t wemrr

(C) I HTerelTor (D) =k arg [A]
tuere dasta uRaisT_T &1 gy g -

(A) FTeTTaTS & (B) Stz &

(C) ureii & (D) 3R @ [A]

Choose the correct Hindi translation, of the
following word:

Affidavit:

(A) 2T g (B) atferas Wil
(C)afaaa (D) adiadmaT [A]
et &1 UhR 2l

(A) e 3MAR (B) i-e TguT

(C) i~ &el (D) i ¥eft [D]
ufig 'R & ard aga & T @1

E (B) 3mR

(C) wler (D) SitegR [A]

g 7y et & @39 &A1 99g &1 994 hifSQ it
=T 9g (5, 12, 13) & S 8t

(A)(7,9,11) (B) (6, 8, 12)

(€)(5.7,9) (D) (3,4, 5) [D]
el IR afer & FETE fha- 872

(A) 72 ez (B) 45 ez

(C) 26 H= (D) 62 = [D]

Translate the following sentence into English:
IQ R AT U= 2l

(A) To play tennis is liked by her.

(B) He / She loved to play tennis.

(C) He / She likes tennis.

(D) He / She likes to play tennis. [D]
RAafaf@a & wrdia dfaum s sa-ar sy asat |
MUTF IR A 2?

(A) vII (B) 1V

()1 (D) VI [D]
ThTUdT hY Aha™ & o e &

(A) TEETRfae ofR MenfA

(B) wiferes Ufdrs ok et &t 12

(C) fararfa= g ok umsfAa

(D) umsfam ofk TEatwRifas [B]
fr=ifera d @ it 7 goom &t i wETaE TE &
T8 8?

(A) gorf (B) @iz

(C) ot (D) oftar [A]
a1t g 7' | @?

(A) &t &1 T (B) e Sfit <t 7eg

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

(C)gar3RaTar g™ (D) a= Sfiat & 7 [c]
Which of the following is the correct active form
of the sentence -

The bridge was considered a menace to navigation
by the boat owners.

(A) The boat owners considered the bridge a
menace to navigation.

(B) The boat owners consider the bridge a menace
to navigation.

(C) The boat owners have considered the bridge a
menace to navigation.

(D) The boat owners had considered the bridge a
menace to navigation. [A]
-t 1 AT 8-

(A) feratfthferen ufazema=

(B) sctarcifthfcren aRTIcHeh

(C) Tk HeTeh ufcreamo=

(D) stereifthferes o [D]
ISRYM dargd sffaw e ad d any forar
UT?

(A) 1955 (B) 1953

(C) 1956 (D) 1954 [B]
‘Iufaar ereg A'aAT gon AT faivor e ghm-
(A) situfafs (B) Sufafr

(C) siufaftg (D) Jufasfig [A]
B d 9 I9-81 q3EhR ISy § . U9, g,
Hif9;22022 & saifa Faiaw @rd wA aret IushAl
q sreahre T 27

(A) SrIgfed SiFSTd [ ST ST & Jest

(B) SrITEIRUT UfehaT / ITE T TaTIR

(C) IcuTe: UTERIT YR

(D) wfger et [c]
a1, faerre T "gRT IoTEUT Rl §%T IS8T T
8?7

(A) g aTer (B) afstet gaiRoT

(C) st famra (D) ge&1 e [D]
HIShiTUe a< 2016 H afexHTeh faehea gidar 21

(A) =g (B) Reg

(C) festa (D) = [c]

S 2 F P F oormieE ol o Saw 2R
e 4 PrefafEe d & Read daor 2a & wter
ek Shd1?

(A) st srepert (B) #f¥ent sra=T

(C) siftpar am (D) gfererf et [B]
IUUE "' @ uefua w1 g LY ISy
T § -

(A) Aies gatga= (B) SMTUeT Use Heg

(C) YA gd S damem (D) Uy ves= [D]
ek aafeh &19E &9 (colour blindness) & Hif3a 21
I fag A & @ si9-91 T 9t @2

(A) cafth o T 6t Soft & SR TE g e UraT!

(B) afch chaet §d AT AT T hl aEG3AT el <@ UTAT §
(C) =afth Gt aegaft ot <= urar & foheg Aa a1 o=
I I TE g1 &@ UTdT
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67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

(D) =afp &t aegsil ot We A8l 3 TerdT| [A]
favar 2022 # A 37 sfF3ar’ & fara= @ R §Q?
(A) 7 9re (B) 8 @ret

(C) 9 g (D) 6 &1t [B]

Uch AR &l &l gehel A el SITdT g1 IST Tohal, R hl
HITS T 60% 1 IST ghaT BIE gohs | foha ufazra
T g?

(A) 40% (B) 50%

(C) 60% (D) 20% [B]
g3 MUHT-2012 & SR 3 & Fl Uy #
ST o1 fear fran @2

(A) 10.2% (B) 11.5%

(C)12.6% (D) 9.4% [B]
fFafafaa & @ aoreyr d eF-ar adia Ia afaat
& g ufag 21

(A) iR A3t urdh (B) Shaeied A Uteh

(C) IR AFT uTh (D) S9i¢ A UTeh [B]
AR @ A 2012 & y=rsh @ gunfAa frar mar

ik stk arer o 999 92 vawh A1

(A) It (B) A=

(C) et (D) wmTEET [D]
fderefi= arferal 1 A e |99 TsauTe fRaeh
ufafafd & R R & wzar g?

(A) 3w fgmree (B) Tt TR

(C) T &Y ST ar (D) #fuRug, [B]
N fehehe Rfeaw ST Stem =

(A) SR & (B) ier &

(C) frem & (D) Stregz & [A]

T4 e} T fEd I &hd @ df ST HiEs eheer
&

e tha 8% ( Correct function test)

I 3% (Integrity test)

UTaR 31 Otk ¢ (Power on self test)
Remafaferdt ¢ (Reliability test) [c]
........... $r sremaiar H 8-9/5<, 1938°%h IR FTAUX
AT TSTHUSH T U AT T80 gl

(A) euzE=< dre-t (B) gRTeTTer ST

(C) same fagar (D) STHATT SoTTSt [D]
Tt Uit & 99 JoreAT fehaft 3=ft Raraat &
farsrera um?

(A) 18 (B) 19

(C) 22 (D) 15 [B]
THUH-UFAd h STE LT H ... T gid 82

(A) 5 (B)7

(C)3 (D)6 [A]
fRarar 2021 d oA # et fr fdssifaa
et fara=t ofY?

(A) 23321 FmaTe (B) 31310 Amate

(C) 21979 #maTe (D) 20762 #METe [A]

2 It ST g1 TS °T Bl IS F SRR Yah /T
1 91T ST 8, & §9 UahR a9 98 g+ <l rars 82
(A) 4 3 (B) 6 @t

(C) 8 o+ (D) 2 ¥+ [A]
‘Taraeft 71 Ffear A =T R wiferRt gRt
Fa hras?

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

(A) SichlerE (B) u?rmﬁ'saﬂsa

(C) I (D) $hodifdiE IRES [D]
g sin A+ cos A=mdaursin3A +cos3A=ng, at
fArafafea & 9 sa-aragd 82

(A) n3-3n+2m=0 (B) m3+3m+2n=0

(C) m3-3m+2n=0 (D) m3-3m+n=0 [c]
45° WRTed_ hIvT arefl wehtr faor & fag ermuas
THIUT T HIF gII?

(A) 0° (B) 60°

(C) 90° (D) 45° [D]
gahfenifea Sfiaf # qorEl &1 Iugad sivga+ e
3=yt # foRar ST et 82

(A) S srazar (B) Hethat

(C) &refithst (D) Gy Sraeen [B]
U @ sEer # Fefaf@e 4 gaffds d@en
foradht gt 22

(A) vmafiies Iustterdr (B) fgftaes Suatiardr

(C) sruaeah (D) 3curgen [C]
‘TR @Y fefaw’ g I ¢ S99 Rh R
& PR ............ a=a &l 7eg gl St 82

(A) fgdita (B) 3@

(C) =gk (D) = [A]
ASTEATT T hIF-TL AT R § a9 98 FF <k
dISTR & U § SIHT ST dT 872

(A) STrergR (B) SigemR

(C) sl (D) sTeHR [c]
‘g’ gdam g2

(A) Frguaraes 948 (B) UAarae Ga—mH

(C) Trryameh gd-11 (D) srRagaraes ga= [D]
UM Aeerac & ‘Reference’ & fg=kt & @2
(A) Tt (B) usfia=

(C) ufeftem (D) wfcregfa [A]

HIRd & g1d ST (S8tens) 3 frd smg-m ‘T
Ueller’ (A2l 311S<hA) FifAq frar &2

(A) Uerst PruTdt (B).3nfar @™

(C) =g ge (D) srfAqr e [A]
16 omie, 1658 & Raufha gg # i 3
STHIAfg <l gET?

(A) FTTTE AT I (B) @jar 1 g5

(O)sRmamgg (D) ERTE 1 g5 [c]
Retarerdfer’ a2

(A) A137C g A (B) off AgTdReh &

(C) Steek & (D) R & [A]

Teh heFell & ST Y srden Uah O’ (ga) oifden

FHTE ek T 21 SHhT hIRUT 8?

(A) T T ATT ST Y 30T 31feh B

(B) a1 T U5 AT STeT ch STUETT T &1

(C) O oI Y& TG STt i Srdrer 3ifdrs &1

(D) R, STt bl 3det 31fdeh T g1 [c]

Afafaa & | fFa uig & fAsedor dae Rega-

31q=ed < gRI fohar ST Jepdt 82

(A) Ag (B) Au

(C) Al (D) Cu [C]

y-3i&1 IR si=-a1 fawg, fawgait (7, 6) aur (-3, 4) @
&7

(B) (0, -15)

(€) (0, 15) (D) (0, 10) [c]
ffafaf@a d @ &9 a1 wy= engs 9vgar @
raf-ad 81 82
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CET 12th Level (1st Shift) Answer Key Dated : 11.02.2023

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

(A) srarga (B) st

(C) At (D) fieus [B]
‘AR’ A A P AT IHH 22

(A) dcgzy 9= (B) sregdiarg gaTg
(@)r-ukeic (D) ey THg [B]
&1 WY Wieterier &1 AT WIge & e USH | fahar
ST 8?

(A) Ta & &t (B) ot aft i 3
(Quadrdidigy (D) gwdrdt [D]

(A) Gar (B) e
(C) Uy uter= (D) i [A]
freht FiR & sTuR & ‘a’ @R ‘b’ T wR T & ¥

(B) a+b
(©) ";b (D) ab [A]
Arafafaa dwar goft & srrer ug e s anfae?
11t 1 L
\/57272\/552\/8)6\/55-
1 1
A) —— B) —
( )6\/3 ( )12
1 ]
C) —— D) —— C
( )12J§ ( )12J5 L€l
Ar=afafae gen doft & sren e & s =nfgu?
B Gt e S S S
2" 27 237 246" 62"

1
(B) 12

©) g5 (E]

foreft A9 i zarar A= deig @ O St @ (SEf g
hIhd g8 8) -

(A ,_1

'y

(B) P=12

(Q) p:.%.z_- D) p=f [A]
UTT 3 Y AIE WeAT AThTard @1 Tt aref @
(A) Smufxr & T St ggraar ot a1 gidt

(B) STt f&ret Tar a8t skt

(C) I H feman sifdam|

(D) foreft I8 &\ 9 AT [B]
aBTHR IVIRYY fohaeh fog ufig 82

(A) epTer fgRor (B) o' RIS

(C) 831 PR (D) arer [A]
et 7 TeTFUE A fhas ot g urdh faenfaa ford &2
(A) 4 (B) 2

106.

107.

108.

100.

110.
’ 12 13 i
] -
e ° (@)
3 6 7 mg
Q)
S o E 5 4

111.
112.
113.
114.

115.

116.

117.

118.

()10 (D)6 [A]
"\for 7oft’ ereg-g o1 At o1k @
(A) MR -&A\d  (B) @ -1

(C) 3z -Td (D) 7= - RTE [c]
£4800 <hY AfA UR 5% arfifer Trenvor sarst it R @ 2-
Y, ot & =aret 6 afy ghfi-

(A) 500 (B) 600

(C) 700 (D) 7400 [B]

I IRET e drat fant s shgeredt 82

(A) wdm g (B) smédfiaA

(C) & (D) wTSERIGTTE [B]
ST H 2011 Ft STRT0TT & AR A=ifera =
| ot # fZefta gmaw saer a9a 82

(A) STSER (B) dfrer R

(C) 9= (D) SR [B]
T H&&T A Hifgl

e o
(A) 65 (B) 72
(C) 88 (D) 51 [A]
HYEE HIYR REhR 8§ ifAa sifda d9ted
fA=fafaa d @ frg @« @ gafRa @2
(A) fonche (B) Hercharstt
(C) frarsit (D) gfeht [A]
ag d-ites ot HAfl e e @l fhaes sish
See] oh ZR1&RAT A FFhy ehr st 21
(A) et (B) gforam srefots
(C) wranfe (D) SE giEeiE [A]
Teh 931 ot T 1440 8 =1 tR 10% < g1f~ gt 2139
forea ¥ 3 S s feh 1598 &1 &1 81?
(A) 21840 (B) 1850
(C) #1860 (D) 1800 [A]
yTERIzs U=y &1 AR &Y Fft & FRoT gar
|
(A) Mg (B) 91R
(C) amaife (D) et © [A]
IS HFEIRHE & TANT S a1 JIUeaR 8-
(A) faae (B) famfSia
(C) famgw (D) fa=ifen [B]

afYe davet & fog g s foranfier srafRear
g 3Tk 82

(A) 2 (B) 3

(C)4 (D) 1 [B]
"ARETST I 9T e’ g T 82

(A) &aTet e g (B) gguna Aot

(C) gdaeet fAsror (D) dRTOT T [B]
THd TR AT & fhd e @ wefda g2

(A) ferarer (B) g

(C) 3reterR (D) SR [c]
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CET 12th Level (1st Shift) Answer Key Dated : 11.02.2023

110.

120.

121.

122.

123.

124.

125.

126.

127.

128.

fgrema wftenzor fSrwent g g (/5 - 2) &, ghfi?
(A) x> —2/5x—1=0 (B) x> —4x+1=0

(Q) x> +4x-1=0 (D) x> +2/5x+1=0 [C]
27 IR, 2022 & WRA H ... af e |
(z=h=EY) s w=1maT mam?

(A) 76 (B) 78

(€)79 (D) 74 [A]
Fill in the blank with the correct option.

They ............... looking after orphans since 1980.
(A) were (B) are

(C) had (D) have been [D]
YIhie hal (¥4 87

(A) aremeret & (B) s #

(C) smge & (D) hrefrsm # [c]

UTeR UTg~¢ § AR TATSS ohl &1 IUNT 82
(A) 73 T3S AT

(B) G+ft T3S H ol Ueh AT 3T
(C) 713 I3 AT T Goft TTSSH i Ueh A1 &1 &t
(D) &R T3S i Ueh SITT thHE AT [D]

ek it & faeruf &t evars.20 It 8, at s9eT uRumg
ahT-

(A) 200 @+ (B) 40./2 g+t

(C) 1042 Tft (D) 40 @ft [B]
Choose the correct synonym of the following
word:

(A) sorrowful (B) angry

(C) scarce (D) fear [D]
30 =afwral Y v tfeh & TR97 arff ek & azgat aur
TRa gAY SR & Usgdi @, §1RY G Ra ch #e fohe=
=gfwh 82
(A) 2
Q4 (D) 1 [A]
YW & THET Sichiadlh, " Ueh [Afga Sva=eg
T Ty & SR R Sedy Slepiaal #.8 Sugerd et
T+ HIAT St uAfRg 2= g 81T Jeh?
Problem Fiqures (S9&ar 3rrepfadt)

HHIX || -
T 7] T ™V
Answer Figures (IR 3repfadi)

Ay @ =) @
© @ ) ®

ST, TR TSR hl AgTaR[Aafor feaa &2
(A) 14 3 (B) 6 fegmr
(C)10sH (D) 12 way [B]

[A]

120.

130.

131.

132.

133.

134.

135.

136.

137.

138.

af} g Met A Brear g f 7€ qt aafas M od

T A & AT BT AT T 872

(A) 8:1 (B) 1:2

(C) 2:1 (D) 1:8 [D]
ASTEATT &b fohg M@ & 1952 # #F afianeur M
T i TITUAT fi 7 of1?

(A) STraqR (B) SHgerER

(C) sTe®R (D) s R [A]
56 9+t gRfY aret gea =1 S=rhet T ghm?

(A) 249.45 2 (B) 256.25 92

(C) 216.15 I (D) 216 T2 [A]

Which of the following phrases is a substitute
for the word ‘Beaver’?

(A) To tear up and damage a living body

(B) Public merry making and procession

(C) An animal that lives in water and land

(D) A person who brews liquor illegally [c]
12510g255 arrm:r?,?

(A) 545 (B) %

(C) 25 (D)5 [A]
gferthfegfae I glar 82

(A) Tthefisi A=k @ (B) wioHifeag @

(C) garRaT d=hidt & (D) sRgeiary #eex 9 [c]
551 5 & T idisst a-F T8l 8?2

(A) gg (B) gk o1 STefig it

(C) T (D) e [B]

A # geethensied B & @) 9 aesd @
TATHIART gidl 67

(A) TTifthetisT (B) @yt

(C) =R mrereft (D) st [D]

fAfaf@a d 9 @iFar ddve Jhewr WRA ZRT

SIS Ge-e AHTfthe | ST 1T AUT?

(A) 31cRen 9re ha (B) =i twe &g

(C) goreit tewe g (D) -y O g [A]

Arafafaa « gifaa fifagl

A B

1. IITHRE (i) srYen nfRfaat ot s
ST a1t US|

2. gRus (i) TA=oT U= |

3. Srfdga=m (iii) Tror<hrg wam=ER &
guehet a1 Sfeflay
Stfdremfat ar iRl
ol TIYRUT HA A &
IGIGICIEIEEIGIRES

4. Fraq (iv) TroTa= & wentfAa G-I

1 2 3 4

(A) (i) (i) (iv) (iii)

(B) (iii) (iv) (i) (i)

() (iv) (i) (i) (i)

(D) (i) () (iv) (iii) [D]
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139. JASTEATE & Uhlneur & sifaw =Ror d si9ar &

140.

141.

142.

143.

gfefera forar mar ar?

(A) sfierR (B) ey

(C) dien (D) 3R [D]
2401 1 Tl 872

(A) 49 (B) 51

(C) 39 (D) 41 [A]
3ISTHR & AIgHET ol ... & T @ oft ST ST
&7

(A)UerR & =g (B) HuTEel & <igH

(C) a1t & g (D) SR & dg= [B]

TSy HiAFse # gl d sifderaw srgHa Hear 8?
(A) Trog fAuTHSd &1 15%

(B) 3= faem g &1 15%

(C) =g fAuTaT *1 10%

(D) Ir= faumHSd &1 10% [B]
fafe= &=t & g1 CO, Iesid 5 mmt 81 7 R
™ ug-aré |, fafv= &= | €0, scusi= & ufa
ufaera ahrer R fear T g:

Thermal power secior o
wi &/ 5% _'bmﬁestic sector
15%) W &

20%

Commercial sector

: 0%
Transport sector -

ofgeT &=

TATSd W 8 § Fed CO, IedAui=1 fhe=iT 82
(A) 0.75 mmt (B) 2.5.-mmt

144.

145.

146.

147.

148.

1409.

150.

(C) 1.75 mmt (D) 1.5 mmt [A]
ofy darga fufa &&= & et @, @ goa wRad
SIa?

(A) 7 T18 &F 31ex (B) ®: |18 & 3R

(C) deepret (D) Ueh H1g & 3R [B]
3.ga.q. 3] &t fafdee Tyal wR e aret dorgH
gid8?

(A) &g hiEheSsT (B) St.TA.U. UfefimRsior

(C) g greigfaergatet (D) SruA.g fertsier  [C]
fafafaa & 9 frg e g @R dfa @2

(A) T (B) g==fa

(C) = (D) 3r=aor [B]
Arafafaa # | s avqe=y &1 3g1ER0T RiFET 82
(A) sHfga (B) Ut

(C) Sarfged (D) srmrsrdt [c]

Teh hefl o faenffat =t dferat & ==t g+ 81 af
dufer # 3 fenff afder g4, at 1 dfer w1 &< afe
ufes & 3 faendff = g, at 2 dfer eifdres a=eft| e

# fenffal & s fhat &2
(A) 35 (B) 36
(C)37 (D) 34 [B]

ST | Fe1T WS Td 7 MY GTUTT hgi TATha
forar mar @2

(A) iR (B) SR

(C) entfe=i (D) 1R [D]
g %heaRM = ROUND (188.52,-1) &R Iealr 3TM?

(A) 189 (B) 190

(€) 200 (D) 188 [B]
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